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PHYSICS 38C-|
SECTION - A (Magks 12)

Time allowed: 20 Minutes

NOTE: Section-A Is compulsory. All parts of this section s#e to be answered on the question paper Itself.
It should be completed in the first 20 minutes amst handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead gencil.

Q.1 Circle the correct option i.e. A/ B/ C / D. Each part carles one mark.

(i) The Least Count of a measuring cylinder is:
A. 1m’ B. 0.01mL C. 0.1mL D. 1mL
(i) Significant figures in a number are:

A All the accurately known digits and the first doubtfui digit
B. All the digits

C. All the accurately known digits

D All the accurately known digits and all the doubtful digits

(iii) When an object is moving with uniformly changing speed then the slope of the speed-time graph
determines the magnitude of:
A Displacement B. Velocity C. Acceleration  D. Momentum
(iv) A string is stretched by two equal and opposite forces F Newton each. The tension in the string is:
1

A. Zero B. 2F Newtcn  C. F Newton D. EF Newton
(v) A body is said to be in equilibrium if:

A Its velocity is not changing B. Its acceleration is uniform

C. Hs velocity is changing D. Its acceleration is not uniform
(vi) Moon completes its one revolution around the easth in:

A 27.4 days B. 28.3 days C 655.2hours  D. 3.96 weeks
(vii) If the mass of a body is halved and the velocity is doubled, then its kinetic energy will be:

A %mv2 B. mv? C. 2mv? D. %mv2

(viii)  Sk-Unit for the thermat conductivity of a solid is:
A Jkg™' K B. JK C. K D. Wm 'K

(ix) How much heat energy is required to melt 250g of ice? (Latent heat of fusion of ice is 336000Jkg™" ).

A 840007 B. 84000000 C. 1344J D. 1344000/
(x) Pressure of a liquid depends on:

A Depth in the liquid B. Depth and density of the liquid

C. Depth and mass of the liquid D. Density and weight of the liquid

(xi) If 100V force moves a body of mass 3kg through a distance of 3m then work done will be:

A 900J B. 600J C. 3067 D. 1007
(xii) ° The value of the ‘gravitational field strength’ of the Earth at a distance R (where R is the radius of the
Earth) from the surface of the Earth will be:

A, SNkg™ B. 10Nkg™ C. 2.5Nkg™ D. 1.1Nkg™'
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PHYSICS 98C-| 90

Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.6. Sheet-B If required. Write your answers

neatly and legibly.
SECTION — B (Marks 3§}
Q.2 Answer any ELEVEN parts. The answer to each part should not exceed three to four lines. (11x3=33)
(i) On closing the stud and spindle of a screw gauge, the 2ero of the circular scale is behind the index line

and 8th division of the circular scale coincides with the index line. There are 50 divisions on the circular
scale and the distance between two consecutive threads on the spindle is 0.5mm. Find its zero error

and zero correction.

(i) Define Atomic Physics and Nuclear Physics.

iii) A cyclist competes half round of a circular track of diameter 636min 1.5 minutes. Find his velocity.
(iv) Define inertia. Describe the factor on which it depends.

(v) How much time is required to change 22 Ns momentum by a force of 20N ?

(vi) Can a small child piay with a fat child on the see-saw? Briefly expiain how?

(vii) On the surface of the earth, the weight of a boy is 400N but on a mountain peak his waight is 360N .
Calculate the value of ' g’ on the mountain peak.

(viii)  State the law of gravitation.

(ix) Make a flow-diagram of energy conversion for a hydroelectric power station.

(x) Describe Hooke's Law.

{xi) Describe the factors on which upthrust of a liquid depends.

(xii) Why are a large number of slots made in radiators?

(xiiiy  Convert lgem™ into kgm™ .
(xiv) a. Why does the temperature of a solid substance not increase during its fusion process?
b. Differentiate between boiling and condensation.

(xv) How does evaporation differ from vaporization?

SECTION-C
Note: Attempt any TWO questions. All questions carry equal marks. (2 x 10 = 20)
Q.3 a l Draw distance-time graph for an object moving with variable speed. (2.5)
ii. How can the slope of the graph be determined? (1.5)
iil. What information does the slope provide? (02)
b. State and explain Newton's first law of motion. (2+2)
Q4 a Define three states of equilibrium. Explain these states with reference to the centre of gravity. (2+2+2)
b. A motor boat moves at a steady speed of 4ms™' . Water resistance acting on it is 4000~ . Calculate
the power of its engine. (04)
Q.5 a Define Pascal’'s Law and name any four working systems (machines) of its application. {1+2)
b. What is a bimetal strip? Name any two instrument where bimetal strip is used. (1+1)
c. How much heat is lost in an hour through a glass window measuring 2.0m by 2.5m when inside
temperature is 25°C and that of outside is 5°C, the thickness of glass is 0.8cmand the value of
K forglassis 0.8Wm™' K™ (05)
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Answer Sheet No.

Sig. of Invigllator.
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PHYSICS S$C-i
SECTION — A (Masks 12}

Time altowed: 20 Minutes

NOTE: Section—A Is compulsory. All parts of this section am $0 be answered on the question paper Itseif.
it should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead psncil.

Q.1 Circle the correct option i.e. A/ B/ C / D. Each part carries one mark.
(i) 1.45 is rounded to:

A 1.8 B. 1.4 C. 1.45 D. 1

(i) A stone is dropped from a height of 30m. After 2 seconds its height from the Earth will be:
A. 10m B. 15m C. 20m ' D. 5m

(iii) Newton’s first law of motion is valid only in the absence of:
A Force B. Friction C. Momentum D. Net force

(iv) A racing car is made stable by:

A increasing its speed B. Decreasing its mass
C. Lowering its centre of gravity - D Decreasing its width
(v) Si-Unit of the ‘gravitational field strength’ of the Earth is:
A Nkg™ B. Nmkg™ -~ C. ms™ D. Nmi*kg *
(vi) The value of ‘g’ at a distance of 2R (where R is the radius of the Earth) from the centre of the Earth is:
A. 20ms™ B. 5Sms®  C. 2.5ms™ D. 1.62ms™
(vii) In Einstein’s mass-energy equation, ‘¢’ is the:
A Speed of sound B. Speed of light
C. Speed of electron D. Speed of Earth
(vii)  If the power of a working system (machine) is 2088.8 warts then its power in horsepower will be:
A lhp B. 2.7hp C. 2.9hp D. 2.8hp
(ix) If a matter has fixed volume but not permanent shape then the matter is in the state.
A Plasma B. Gaseous  C. Liquid D. Solid
(x) Normal human body temperature is:
A 15°C B. 37°C C. 37°F D. 98.6°C
(xi) Sea breeze blows:
A Fromiand to sea B.  Atnight’
C. From land to sea in daytime D. in day time-

{xii) If 20N force produces an acceleration of Sms™ in a body then the mass of the body will be:

1 |
A 4kg B. Skg C. Zkg D. 3 kg

For Examiner’s use only:

Total Marks: 12

Merks Obtalned:
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PHYSICS SSC-I

Time allowed: 2:40 Hours Total Marks Sections Band C: 53

NOTE:

Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer, sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

Q.2

Note:

Q.3

SECTION - 3

Answer any ELEVEN parts. The answer to each part should not exceed three to four lines. ( Mx3=33)

0]

(i
(iif)

On closing the jaws of a Vernier Callipers, zero of the Vernier Scale is on the left to its main scale zero
such that 4th division of its Vernier Scale coincides with one of the main scale division. Find its zero error
and zero correction.

Name any six base quantities.

Why is the value of ‘ g ' taken as negative when a body is thrown vertically upwards?

Find the acceleration of a body if it is moving with uniform velocity?

State Newton’s second law of motion.

A stone attached to a 1m long string is moving with a speed of 5ms~'in a circle. Find the centripetal
acceleration of the stone.

Why a body cannot be in equilibrium under the aetion of a single force.

On what factors the orbital speed of a satellite depends?

Define work. Give its two formulas and Si-Unit.

At sea level, the atmospheric pressure is about 0.01013kNcem™ . Convert it into Nm™.

Define specific heat and give its formula.

How does hot tea remain hot for a tong time in a thermos flask?

Define conduction and convection of heat.

A machine is 12% efficient. If useful work done by the machine is 6 joules then calculate the total energy
consumed by the machine.

What is the purpose of constriction in a clinical theqrmometer?

SECTION-C 20
Attempt any TWO questions. All questions caesy equal marks. (2x10= 40)
Define and give two examples of each: (242+2)
i Pre-fixes ii. Vibratory motion il Third law of motion

Find the magnitude and direction of a force if its x~component is 12V and y—componentis SN . (2+2)

|
Define equilibrium and explain first condition for equilibrium. (1#2)

The acceleration due to gravity on the surface of the moon is 1.62ms ™ and the radius of the moon is

1740km . Find the mass of the moon. (q4)
Write a note on Kelvin Scale of temperature. ((*3)
How does Archimedes Principle help to determine the density of an cbject? (0’4)
Define latent heat of fusion. Also give its formula. (2+1)
How does greenhouse trap solar energy? (03)
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